
SOUTH EASTERN UNIVERSITY OF SRI LANKA

FIRST YEAR EXAMINATION IN BUSINESS ADMINISTRATION & COMMERCE
(EXTERNAL) - 2007 12008 HELD IN MARCH / APRrL - 2008

BBA / COM 14 (l) - MICRO ECONOMICS

6r6U6Dn er5lenn6eqgdgrb erilanL gi(D6.

01.

r b :03

orerrquur*so)6nu uueiru@gi5$ flaireuqgoror6'rlpdt p aq6&auna ailendga'
i. ero e-pup$ otenolu-ll
ii. orryq Glea:qpdr-u oteirenul
iii. oobanal$ Ggnglsirgluu u$a5r-@ olpb
iv. oilerro 6layodl otorenu5l
v dJ€bee0 ororenuil
vi. anryoui er5loro zuor6nu5l
vii. erilflquuncrrp
viii. srDuursi oieDdTuJluJldDenu uu-toiu$pdl UafGer.rnq rLopflenal

ix. gaopen& Gteflornor Gl5ng5l50 511-uLb
x. uuouuot orolenu9uSlan uorirqa6fi

(10 x 02:20 qenaflsar)

a) 61aqGounan O(Dororgt Gr-on$gu uu.ror rnryq s$srgl d$arqgung Glan@dsuuSdanpS't

TU re :200 F2 82

Sairg F , B erenuor goorglGu-r dtrr ropUr6 $orp*#l oairueneufgl@lolL-tu
Gpnanaaenn(gd. @SryeqGatn(DdtLtu euqq Gloalopdt-l 6udD[tu6'rg)

0l

I :P rF  +  PsB
$r'ig,

Pp: FGunqSoflcn eil loro
Ps: BGtungoflan erileno
I - Gtaaloi[-ppde erLlgronanLb.

i. F , B egBoren osbenalu uu:otaarrend sncnhs'

ii. F , B sqg*sncn Go6neril& onryqeolsn6 snanfts
(02 qenofleert)

(04 qenofleen)

iii. F , B Glunqgt-eofleur s6tl(5 erllcnooon 6o'rglGu-r (Dun 100/- OUn 50/-

srorolrb Gtaroer5L-ggda euqgLonan ot-r-6 qgun 1500/- eroro16 615dp GenoniS

F , B @glanuu-r o-pgto Glpnerrsoanen u$u86a.
(02 qenoflsen)

iv. 5,000/-, 10,000i-, 15,000/-, 20,AAAI- ol(ttDITdI Lot-LrioansTr uanu$gi$, F
GunqgqgtisnffI or(DdDnsr Go6ndfi gtLlsucrrou-oo'rul 5u-rnfl6tg*.

(02 qena?aen)



vl.

F Gun16oflen gaienLo

6J6DsItu enqarofleen

erdoflSgtn6i) F, B

updl di ollenrjrdl& Ganenorgt ulngl?
(02 qenofloen)

ronprp gilorou5lo$, rysryGornaflair orlglonar6 2A001- €S6
Gunqusoflan qdur c-g1q,:r' Gerydoreenuld snanis.

(02 qoserflsen)

b) rllororqDtb glLuoueaterocnu.ru gry5pfl Gru-:a.

gerir dl$rb (i) Oun. 5.00

ooi:eoalu uulotGanuurLgtr)olu uu-reilu@5$
GasliroS|i Gsruenli Gugorparrot6 snl@g.

gmnfleir Gtpq5r'ildlul poniruf po?Lb Ga& onufl@orpaoel
enurll$otgen 

-gootona 
6afr5|orneb Gugluuuu uu-raireaen

d$ar6rb srLle'uanaro 6an$d;dlairg)5'1.

Gurnsu (Y) 6un. 6.00

(03 qenoiasn)

erll6rbqdlorpny. Gsd
rfgnor dlo Otoleo:5n

uoiirr--Groneir$lfsnan ryaqGornoflol

(06 qoreiAaen)

l l .

erfllluuuiu 0s*dleit
gotqaefi

Gupuuiu uruairasfi Tu Mu

1
I 50

2 40

J 25

4 05

5 00

6 -20

etorail6DLru Gton$guuu-rair (Tu), oe$orotuuulail (Mu) oefruor$pflanen& snofis.

Gugliur-r- gitolib6D6ru uuanu@gb$ TU, MU suenenu$aensfl olotrtb.
(03 qenoflaeft)

D

a Tu (i) Mu (i) Mu ii?i a Tu (v) Muy Mu l&
I
I 2000 I 1500

2 3500 2 2400

4000 J 3000

4 4000 4 3000

5 3000 5 2700

6 500 6 2100

03.



i i )

i i i)

eLDUru6ul

616iJoJnCIl

STDUIUOT

erlloreua.;

Gonlunr-orl-u uu-roru@gd uo,irL-Glronengilsenor potipuq Go6Ir6I5l6 Ganr-o'rL-

GlupeunLb etold; ant-@s.
(06 qonoflsen)

qgu-rollair e--polluluan u$lalr-$ orllelsnol, or(Dt^DrrtrI

aanuoror$Sianen Gatglu@gd ei5ien&qga'

erilononol, Gonpp

(08 qenoflaon)

i )44. anqoofl ollenalLon$prb roSErb onryodl u$alL-@ erllarrsnoralulrb alSd,oLons orllen66a.
(04 qenoflaen)

ii) Gron$g Gloalq& enqq r5lanar(DronCIJ Squu$dlairp5,

TC :bo  +b r  Q  -  bzQt  +  b :  Q ,

EpjrtO Q oairug Gtoraflu5r-gair er6ndDduri; 6$l6dlenp6l. r5aireu66 enqqeorenu
GuEe.

TFC , TVC , AFC , AVC , AC OSETb MC

iii) Glarri -r-6onerb e-$u$$le unqq Lllanor(bunlDl 9ryuur-@en6ngrt'

Q=Axf"x{

Eanorqgorensuf orglu GuEa.

(er) Xr oeirp snlooflu5len urSnurfl o-pugSl
(eb) Xz erairp anqanflulleir oeiloal s-pu56l
(g) o-$u$$ei cnryanflsoflor Grpdl1[:&dl
(r) s6no.p; pflr--r- oilo,cnol oild
(q-) enryooflaoflair osi>ooo Ggn$ryuu u$a5L-@ o156
(s6tr) snqaroflaaflor eruf$d / CoSlq

(06 qenaflaot)

gG ggrdrana: e-pu56l5 Ggn$funr-rgeil Gmngg e-pu5d' eynxtfl s-bu56'

ort 61o tbug,6 erairuor$flsdlort-ulnen Glpnuryqoenon ordDtruL fpilulna ollendge.
(04 qenoflaeir)

pflanglGunr-g* e$eopuSle0 pilparorGtronanflan qErdrenal $lryrbuotl Genuqcncn

eueoryur--$pflor gaal6 erllen66a.
(03 qonaflocn)

"gflenprGunuguJls[ pfanirusna:p$e$ ereng,rtdtul Saxurb piguu$eilanal" eillon&ge'
(05 qeirofloen)

ii i) p$arrglGunr-r9& a$anpuSleir$Eeuanrb Oairdlan5 AR = MR: P aan dlUqo'
(02 qetoilasn)

upOdlofltffel 6D erllenrrjrdld;

(03 q5n6tfla6n)

(06 qenaflees)

iv)

i)05.

ii)

iv) $lolgl€unr-r9* eserrgu5lair d1i2 "et5l6Da) e;$Gunry" 5l6lp
Glonenougt rurgt?



4

v) pilonpGunr-rge sbai,q- Odnd$r pilEorarb Oordlargl Gtr.on$5 euqSronanrb, Gltongg

Geo;q& enyqeen rSlmorSon4t:

TR:  PQ
@r*(9,

P:10Ci- ,  Q = Gotofluj@.

TC = 1000 + tge - 0.9 e2 + 0.04 Q3

(er) dlUromrpdlorl a-$ats Geuofluju@ LoL-L-$$ororu Glugts'
(05 qenoflaen)

(eg) dlurornpdair Glron$p Sonu$$orrot6 ananiro'
(02 q6nerfla6n)

* * * * ? k



SOUTH EASTERI\ UNIVERSITY OF SRI LANKA

FIRST YEAR EXAMINATION IN BUSINESS ADMINISTRATION & COMMERCE
(EXTERNAL) - 2007 12008 HELD IN MARCH / APRIL - 2008

BBA / COM 14 (I) - MICRO ECONOMICS

Answer all questions 
Time : 03 Ho

questions

01. Using diagrams briefly explain the following,
i. Isoquant curve
ii. Budget line
iii. Marginal rate of technical substitution
iv. Price consumption curve
v. Engel curye
vi. Factor price curve
vii. Expansion path
viii. Consumer's equilibrium using indifference curve
ix. Capital intensive technology
x. Properties of an indifference curve

(10 x 02 :20 Marks)

a)02. Let a consumer's total utility function be given by
TU Ps  :200F 'B"

WhereFandBare
constraint

I :P rF  +
Where

PF : Price of F
PB : Price of B
I - disposable income.

i. Find out the marginal utility for F and B

ii. Drive the demand function for F and B

iii. Assuming that the unit prices of F and B are Rs'
respectively and the level of disposable income is Rs.
optimum quantities of F and B

iv. Using levels of income 5,000/-, 10,000/-, 15,000/-,
income demand schedule for the commodity F.

quantities of fish and beef respectively. And his budget

PeB

(02 Marks)

(04 Marks)

100/- and Rs. 50/-
1500/-, estimate the

(02 Marks)
20,0001- prepare the

(02 Marks)

What can you say about the characteristic of the commodity F.
(02 Marks)



b)

vi. Keeping other things constant. If the consumers income rises to 20001-.

What will be the new optimum combination of F and B.
(02 Marks)

Complete the following table

Ice - creams (i) Rs. 5.00 Yogurt (Y) Rs. 6.00

(03 Marks)

Kumar's best friend Naleem enjoys eating cakes' The following schedule

present some data on utils derived by Naleem by eating cakes.
i i .

a Tu (i) Mu (i) Mu i /Pi a Tu (v) Mu (v) Mu y /Py

I 2000 I I  500

2 3500 2 2400

a
J 4000 J 3000

4 4000 4 3000

5 3000 5 2700

6 500 6 2100

Utils derivedNo. of Cakes eaten

Find out his total utility (Tu) and
using the data derived

marginal utility (Mu). Plot the TU and MU curves

(03 Marks)

D

ii)

03. Using marginal utility theory derive a consumer demand curye for a commodity.
(06 Marks)

Show, how the individual's demand curve for a commodity can be derived using

indifference curye analysis.
(06 Marks)

Describe the process of decomposition substitution effect, income effect and total

effect with the help of indifference curves. 
(0g Marks)

iii)



04.

0s. i)

ii)

iii)

i)

ii)

iii)

iv)

v)

Briefly explain the factor substitution effects and changes in factor prices.
(04 Marks)

The total cost function is given as follows,
TC :bo  *b1  Q  -  bzQ '  +  b :  Q '

Where Q is the Quantity of output. Derive the functions of TFC , TVC , AFC ,
AVC , AC and MC

(06 Marks)

Consider the following Cobb - Douglas production function

Q = AXF xf,
Derive the following

(a) Average production of factor Xr
(b) Marginal production of factor Xz
(c) Elasticity of factors
(d) Returns to scale
(e) Marginal rate of technical substitution of factors.
(0 Factors intensive / Density.

(06 Marks)
Graphically explain the relationship between total, average and marginal production
in a short run production function.

(04 Marks)

Illustrate short run supply curve of a firm in the perfectly competitive market.
(03 Marks)

"In the perfect competition the abnormal profit will not last in the long run"
Explain.

(05 Marks)

Prove that a firm's AR : MR : P in the perfectly competitive market.
(02 Marks)

What do you mean by "price taker" under perfect competition?
(03 Marks)

The total revenue and total cost function of a firm in a perfectly competitive market
is given as follows :

TR:  PQ
Where,

P:100/-  ,  Q = output.

TC : 1000 + 10Q - 0.9 Q2 + 0.04 Q3

(a) Find the optimum level of output of the firm.

(b) Find the total profit of the firm

(05 Marks)

(02 Marks)

iv)


